Quﬁgjﬂq&;m €. QeTsg|saer .
CELE fleves Qerggisser 20,000
oma 15,000 pLOy Qenggiasar 6,000
L 10,000 moHGUwWT - 5,000
Geren 1,500 Grefliigen apsed 500

upue sLatpCstm 5,000

31,500 ‘ 31,500

CLeil geflwurs ebs @medls Gersgib Qummib
mausdmeselome. i Lmaflger  eflwmumrsens
smouuldgar  wyla@ssarm. Hoogs Ostsms
. 15,000-@w mpLUy Oergens . 5,000-&@w
SreurdslulLgl. BHALWIT ahg LW sredeeame.
Siamau Qeves@rssns ;. 1,500 Cder@ésuulLg.
Ceraméd jeuflen gafliiu L Qensdledmbg . 250
wHmibd ukisallEslULLg).

Gegenr wpmd CLel <pfu QEmeumd BTy Hs)
&AL irser eremp Hleneuded snremt erélit Gy el glulleor
SigtiueLwrs  Qarar® Cemeuwnar  saué@smen
st Qgwis.
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: (For the candidates admitted from 2012-2013 onwards)

B.Com. DEGREE EXAMINATION, NOVEMBER 2017.

Second Semester

FINANCIAL ACCOUNTING

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL the questions.

State any two objectives of departmental accounts.
gopeurdl  sansgseflar Crrésmseiier gGsayd
L) enTiq e Fam)is.

What is Dual pricing?

Qe elene erammTed eTee?
What is Single entry system?
@nenmLs LUle e GTETDTE) Grea?

How is profit ascertained under Single entry
system?

epapl  ufle; wepuléd  Gemub crsheurrgj
samadlL_LiL{H&ng ?




10.

11.

What is Partnership deed?

G L_MERTENLD LILITGUGRTLD GTETMITEL 6T EITE?

Why is current a/c maintained in partnership?

galLrewrenoudied pLLiL] &/ @ ger ugmwfssiiuGéng?

Define the term Dissolution.

Blmieuer seneiiL| eremm ug,‘e_'sﬁmm QUENTWIM).

What do you mean by realisation account?

&irey sané @ eranLige QuImmeT eTeman?

State the need for piecemeal distribution.

L@ AHCurssSpaTar ScuSlwsHaman snms.

Write a note on Garner Vs Murray rule.

gniranit erdlit Gy elFudenar LHM b GDHLIY eT(EIs.
SECTION B — (5 x 5 = 25 marks)

Answer ALL the questions.

(a) Discuss the distinction between
Departmental Accounting and Branch
Accounting.

glenneurt seuré@ HMID Hener sawédan_ullemar
Cauguim(haenars updl edleurdlgEseb.

Or

2 S.No. 1004

() From the following particulars prepare a
branch account showing the profit or loss at

the branch.
Rs.
Opening stock at the branch 15,000
Goods sent to the branch 45,000
Sales ' 60,000
Salaries - 5,000
Other expenses 2,000

Closing stock could not be ascertained but it
is known that the branch usually sells at
cost plus 20%. The branch manager is
entitled to commission of 5% on the profit of
the branch before charging such commission.

Gemeupd  efunmisamers  Qamaw® — Heverd

samsdlaan sunfisg foerdear Goru g

BLL gSlenen sranmilss.

€.

Slenaruileh 2 ear Asm_ss epsdmiy 15,000
Seners@ e F7é@ 45,000
eflpuiene 60,000
FLDLIGTLD 5,000
Qs dgwaser 2,000

3 S.No. 1004



A%

(a)

Qndé srsfmlidenear samsd Queeldame.

Qe  Slevemuneangl  GUNEHLOTET L&
Awaoied 20% @emub Gsigg elpuemen

Qedlmg).

fever Cuemeryg sleurengl, <leurg sfle]
sansS(Hn e 2arer dearufer Qemugdle

5% sansdL i Couer(Hid.

Mohan, a retail merchant commenced
business with a capital of Rs. 12,000 on
1.1.2004. Subsequently on 1.5.2004 he
invested further capital of Rs. 5,000. During
the year he has withdrawn Rs. 2,000 for his
personal use. On 31.12.2004, his assets and
liabilities were as follows : .

Rs.
Cash at bank 3,000
Debtors 4,000
Stock 16,000
Furniture 2,000
Creditors 5,000

Calculate the profit (or) loss made during the
year 2004.

4 S.No. 1004

1.1.2004 ey Cuonagen eremm @ Slooany
g apagerons . 12,000 Gerear® Agmfle
Qam_midlermi. Siamg Qamibg 1.5.2004 ga'ﬂgu
s (DB epasaons p. 5,000-g psed® Qeuign.
908 Yyamge Seur Qemhs LwWeETLITL I HETE,
. 2,000 er(pgg1s Qameawrmt. 31.12.2004 =6
Seumew Qersgisser wHmid GurmiliLsser
SeireuBLomn QGBS

€.
curidluded Qyrésd 3,000
SL_amerl&er 4,000
F7&S (L 16,000
|G & ET 2,000
sLefCait 5,000
2004-9yib . yarTigeT  @QEOTUD )
BLLSSenar saumédl(Hs.
Or
(b) Find out profit from the following data :
Rs.
Capital at the beginning of the year 8,00,000
Drawings during the year v 1,80,000
Capital at the end of the year 9,00,000
Capital introduced during the year 50,000
5 S.No. 1004



13.

(a)

SpaarrLemeusaflad(mhbg Qemul senréslaLb.

€.
QsrL_&s LpHed 8,00,000
er(Hy 1,80,000
Qmd wpse 9,00,000
(NS (LPFHeD 50,000

Irfan and Ikram are partners sharing profit
and losses in the ratio of 5 : 3. They admit
Sarathy into partnership. Sarathy brings
Rs. 12,000 as premium for goodwill. The
new profit ratio being 3 : 2 :1. Goodwill alc
appears at its full value in the books.
Journalise.

@rumer  wHMD  @Egd - eremn sl L meflaer
SRIGEEMLL  @emu BLLBsmer 5:3 erem
aldlgsHed udlibg Qamem et jeuisar gyl
eremn YHw gl rmeflenw Corggs Qamemm e
Sjauiiger gmydl eremm Yl salL_mefleows GCorgg)s
QamewrLenr. Seul  gergenlw  BHGUWT
wdiurs  ep. 12,000 Qarewr®  eupsm.
gl Laflgear ghsEneLw LS Georu eildsors
3:2: 1 aengy udling Csrewrent. mHGLIWIT
sasE s Ppwdlitde ghsefléd o drereurm
WsHEHLCUE uflajser aTg!.

Or
6 S.No. 1004

14.

(b)

(@)

A, B and C were partners in the firm sharing
profits and losses in the ratio of 3 : 2 : 5. ‘C’
retires and on that date the firm’s goodwill is
valued at Rs. 80,000. Pass necessary journal

entry to adjust goodwill at the time of -

retirement.

A, B wpgid C erenp sl L meflger smis@peL
@Qemu plLmsmer 3 : 2 : 5 arann eNHsH0
udlibg Qarerrent. ‘C eram gl Lmarfl elevdlammt
wHmd G mrefled Hmeueansdear BHGELWT
5. 80,000 eer wHUALLEEHADF. wged
cdleovsaller Cumrg odrer pHGUWey sflalL
Caamauwrar @OILGULH udesamer $(Hs.

P, Q, R share profits in proportion of -;—, i

and i On the date of dissolution their

balance sheet was as follows :

Liabilities Rs. Assets Rs.
Creditors 14,000 Sundry assets 40,000
P’s capital 10,000
Q’s capital 10,000
R’s capital 6,000

40,000 40,000

The asset realised Rs. 35,500. Creditors were
paid in full. Realization expenses amounted
Rs. 1,500. Close the books of the firm.

7 S.No. 1004



QummiiL|seir 1.

(b)

P, Q R % “:: LOHMILD i Teyd  @eomu
Aflssder LSiThg Camerdlemme.
CasHuenm eutserg Quouublews @dlly
efud enreu(mHomm) :

SEELIL

Qs g saer €.
sLalpCamiser 14,000 upue Qerggisser 40,000
P-én @paé 10,000
Q-6 (e 10,000
‘R-én apsed 6,000
40,000 40,000

Qenggisear m. 35,500-6@ Siey Qeuiul L ar.
sL_aiECETTBEHEE (PHOLILTE QegFs I L g).
&ieys Ceeay @ 1,500 <. Hneuer ghsmer
(WPlge)&E QaTant () eu(ms.

Or

Distinction between Sacrificing ratio and
Gaining ratio.

Hurs aldsbd wHmDL T AEssHDEmLCL

Couguin(p) smewrs.

8 ‘ S.No. 1004

15. (a) D, E, F and G are partners sharing profits in
the ratio of 4:3:2:1. Their position
statement was as follows : :

Liabilities Rs. Assets Rs.
Capital accounts : . Cash at bank 4,500

D 90,000 Machinery 1,32,000

E 60,000 Stock 60,000

Sundry creditors 1,20,000 Debtors 1,20,000
Bank loan 60,000 Capital accounts :

F 10,500

G 3,000

3,30,000 3,30,000

The firm is dissolved. All assets realised
Rs. 2,46,000. The sundry creditors and bank
1,77,000 in full
satisfaction. The expenses of dissolution are
Rs. 1,800. ‘G’ become insolvent and ‘F’ paid
only Rs. 9,000.

loan were paid Rs.

Prepare Realisation Account.
D, E, F wpgpw G erenmp gar L nmeflger 4:3:2: 1

@erusdlener
Qaerardampart. Sjeurs@EE@LL B SiHams

QU(HLDIT) :

aenm  ellgsHlen W 31Y:

9 S.No. 1004



Qumrmiyser . Qersgiger 1.
(PB6 HEMES : cumdud@liy Qrréso 4,500
D 90,000 @uisSid 1,32,000
E 60,000 gr&dlmLiy 60,000
upLIe sLenmeflser 1,20,000 -
sLabCHMIEET 1,20,000 psed sanré :
cumidl &L_en 60,000 F 10,500
G 3,000
3,30,000 3,30,000
ﬂgjmm SEOESLILILL F). ang,@am em. 2,46,000-&
Sirey QeiwiulLg. uhue sLamefls@Enré @
aumdssLgd e 1,77,000  @puperwrs
QeqssiulLg. &iey Gseweyser ep. 1,800.
G Heureramt womid F . 9,000 Qegusderm.
&irays samsdlanar swimflés.
Or
(b) The following is the Balance Sheet of KoY -
and Z as at 30.12.2014. :
Liabilities Rs. Assets Rs.
Capital : Plant and
X 75,000 Machinery - 50,000
¥ 22,500 Land and
Z 67,500 . Buildings 1,00,000
Y’s loan 13,000 Stock 20,000
Creditors 62,000 Debtors 70,000
2,40,000 2,40,000
10 S.No. 1004

On the above date, they decided to dissolve
the firm and to repay the amounts due to
partners as and when the assets were
realised viz.

Rs.
I Realisation 45,000
II Realisation 1,09,500
IIT Realisation 70,500

Prepare the statement showing how the
distribution should be made.

Sp&ESTEID @@uq'rﬂma) @diiunerg X, Y whmibd
Z-s@flug 30.12.2014-=41b BrEnsEHwg.

QurmyLiyaer €. Qenggsaar €.

WPsD : Qum HMILD

4 75,000 @upSid 50,000

bYé 22,500 Hleoid wpmitd

Z 67,500 &LligL b 1,00,000
Y’ -6 sL_6T 13,000 &rsdl@mLy 20,000 -
sLabCHTT 62,000 sLarmreflser 70,000

2,40,000 2,40,000

Cup@dudiL Casdluded, jeutser Hlneasms
smoluGdger puGCeu®ss sl mafls@Enss
Qar(®ss Ceuamnquw OgranssE Cersgissamar
&iay Qeig Hpu9 Qarprubgen (g)Lq.Q@J@a;a;u
UL (5&EIDg).

i S.No. 1004



€.
Sreneu 1 45,000
grewau I 1,09,500
&raneu 111 4 70:500

alLnalla@Eps@ eluy  uarsams  90sg)
Qarhés Couanr(d eremm UL iguiene  Swimm

Qews.
SECTION C — (38 x 10 = 30 marks)
Answer any THREE questions.

16. From the following information, prepare
departmental Trading and Profit and Loss a/c of
the three departments.

Particulars Dept. A Dept. B Dept. C
Rs. Rs. Rs.

Stock on 1.1.2006 4,00,000  3,40,000  9,40,000
Stock on 31.12.2006  3,30,000  4,38,000  8,17,000
Purchases 19,569,000 6,97,000 13,73,000
Sales 40,00,000 20,00,000 40,00,000
Wages 7,28,000  3,00,000  2,46,000

12 S.No. 1004

Goods were transferred from one department to
another at cost price as follows :

(@) From B to Dept. A Rs. 2,400 and to Dept. C
Rs. 40,200. ; :

() From C to Dept. A Rs. 25,800 and to Dept. B
Rs. 18,000.

(¢ From Dept. A to Dept. B Rs. 3,000 and to
Dept. C Rs. 24,000.

Apportion equally :
Rs.
Stationary ‘ 5,418
Postage : 4,050
General expenses  2,37,618
Insurance 10,080
Depreciation 32,598

Rent and taxes Rs. 1,80,000 is to be split in
the proportion to space occupied is Dept. A - 4,
Dept. B - 2, Dept. C - 2 and other space 2.

Qar@ésriu’ L eleurtisafla®mbg epemm glepsaaficr
 eQwirumy wHmib @eTu BLL SeTEmS SWTTEsaLD.

. eflugd gioom A gleop B gloop C
syé@ 1.1.2006 ey 4,00,000 3,40,000  9,40,000
o6 31.12.2006 menp  3,30,000  4,38,000  8,17,000
QsaTapsed 19,59,000 6,97,000 13,73,000
Apuanar 40,00,000 20,00,000 40,00,000
sncl) 728,000 3,00,000 2,46,000 -

13 S.No. 1004



SlLsselmauia srEGsd @m smpuildmbg WwHD 17. From the following details, prepare Trading and

slonsE@EssE  wrppiulLmer.  8Cp  OQsr@ésy Profit and Loss account for the period ended
firey al] : 31.3.2004 and a Balance Sheet on that date.
: As on As on
(21) gop B-lGamps A-&@ . 2,400 wpmib C-&e 1.4.2003 31.3.2004
em. 40,200. ' Rs. Rs.
(=) sop C-Welmpbs A-6@ . 25,800 wHmd B-5@ _ Stock 50,000 25,000
. 18,000. _ Sundry debtors 1,25,000  1,75,000
o ey e Cash 12,500 20,000
o A- -& o whmib C-
i Gpl o i 0 Furniture 5,000 5,000
e, 24,000, :
Sundry creditors 75,000 87,500
FwLors Wfsse : : Other details :
Rs.
(. ;
Drawings 20,000
ﬂ@@gun(mﬂ i Discount received 7,500
A(EHEDFEDVEGET 4,050 ' Discount allowed i 5,000
Qurg) Geeeyser 231618 ' Sundry expenses 17,500
TS - 10,080 Cash paid to creditors 2,25,000
Gsiiorand | 32,598 v Cash received from debtors 2,67,500
4 Sales return : . 7,500
aurL_ens OMID aufl em. 1,80,000 @ Liwemuim g6 Lig Purchase return 2,500
Ufss CeuamHd. Sigmeug gleom A - 4, gleoop B - 2, Cash sales 2,500

gleom C - 2 whmid Hmeneuser 2.
14 S.No. 1004 15 S.No. 1004




Spsenand edeugmasmers Oster@® 2004 e
3l-gpid  prCGer(®  peueLwd  arhHiEEmw
eSlumrimy, @a)rru BLLSE SEIG@®SWLLD, BBHTEHETIL
@iy flees @olluemuwb swmt dews.

1.4.2003 31.3.2004

€. .

Fr&slmLiy 50,000 25,000
upue sLamaflser  1,25,000  1,75,000
Qyrésd 12,500 20,000
2| GN D HEVET 5,000 5,000

upUe sLaTBEHTT 75,000 87,500

WO 68l LIFEIgeT :
€.
LY 20,000
Qupp FeTEpLlg 7,500
SIS sanEsUlg 5,000
Leeuas OFa6|s6T 17,500
5L66‘?§;C3g,rr@é;@' 9aflgs CrméEsn 2,25,000
sLamaflsell_0@Hg QU Grrésd 2,67,500
elpuener SmLLLD 7,500
Qamerpgen HmLuD 2,500
Qyrés eflHLiener 2,500
16 S.No. 1004

18.

Anitha and Vanitha are partners. They share
profits and losses in the ratio of 3 : 1. Their balance
sheet as on 315t March 2005 is as follows :
Liabilities Rs. Assets Rs.
Creditors 60,000 Cash 5,000
Bills payable 20,000 Debtors 70,000
General reserve 40,000 Stock 30,000
Capitals : Plant 25,000
Anitha 80,000 Buildings 1,00,000
Vanitha 40,000 1,20,000 PandLa/c 10,000
2,40,000 2,40,000

On 1%t April 2005 they agreed to admit Kavitha
into the firm for 1/5th share of future profits on the

following terms :

(a) Buildingis ‘revalued at Rs. 1,20,000.
(b) Stock is revalued at Rs. 21,500.

(¢) Goodwill is raised at Rs. 40,000.

(d) Provisions for bad debts is made at 5%.

(e) Kavitha to bring in a capital of Rs. 50,000.

Give journal entries to give effect of above
adjustment. Prepare Revaluation account,
Capital accounts, Cash accounts and the
Balance Sheet of the reconstituted firm.

17
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Sieilgn, auallg eremp s L meflaer (parpGui 3 : 1 ergyid
eldlgsdler @amu Bl LHihg eumeament. 2005

wmig  31-b  pretareppw  @@LyBleews @iy
Gemeu(mLommy :

QurmiLiLjser 5. Qenggiser Rs.
sLaBCHMT 60,000 GQyrésid 5,000
Q585D @G Mw 20,000 sLammeflser 70,000

orHmIEE. [ 40,000 sr&dmuy 30,000

Qumrgis sy Qumrdluyib,

WP : Qurdlg QsmgHuynd 25,000

<aflsm 80,000 &ligl Ib 1,00,000

auaflgm 40,000 1,20,000 Qeru plL &/@ 10,000
2,40,000 2,40,000

2005 equpé 1-<yid prrdT‘a;@S]g,rr areueueny  1/5
ukEGsE Csiggs  QamaeuQgemayd  Spssem

sfsl_(DeosEnsELD FbSHSSaT :
(1) slgLgms em  1,20,000 erem  wmSSE
Qawieug. ]

(=) ersdlmuy ep. 21,500 erar wHNSEH Qeiioug.

(®) ppGuwen. 40,000 eren ComhmedLiLig).

(FF)  eumpmasL_eim ¢si&HE 5% qﬁ)u@(&,gjmgﬂ

(22) sellgm . 50,000 upged Qamarm(h aumeus).
Cupaa_sunenn AewduBSgieusnENu
GHIUCULRU udlejser shg, LHLALISIEH &/G,
WPee saMEGEET, CyTEs samIHE  LLHOHID
wrpHluebssiiul L Himeuarsder @ mLyblamad
GIuY QY fwueipeans swrfléss.
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©.19;

.- Describe the various modes of dissolution of a

partnership firm.

gl Lmawrend  seweliber udGeum  euiflpeapaamer
eflens @,

20. The following is the Balance Sheet of Arun, Babu,
Cheran and David on 31.12.2004. They shared
profits and losses in the ratioof4:3:2: 1.
Liabilities Rs. Assets Rs.

Capitals: Fixed assets 20,000
Arun 15,000 Current assets 6,000
‘Babu 10,000- Goodwill 5,000
Cheran 1,500 David’s capital 500

Sundry creditors 5,000

31,500 \ 31,5600

David has no separate assets and liabilities. The
partners decided to dissolve the business. Fixed
assets realised Rs. 15,000 and current assets
realised Rs. 5,000. The goodwill is valueless,
Realiasation expenses amount to Rs. 1,500.
Cheran can contribute only Rs. 250 from his
separate resources. Prepare necessary accounts
according to Garner Vs Murray assuming that
both Cheran and David have become insolvent.

Simewr, umy, Cegenr woHmd CLefl HCwnfer
31.12.2004-<gi> pr@Ens@ilu @muublaws @iy
&Gy Osr@sslul Hetatar. Sjeuiser e WHHILD
plLmsmer 4 @ 3 : 2 : 1 e AflssHer uAipg
Qamardlanmment. :
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